Y2

IL

JATSTYTIUFH 4. 2
(Frpdaf=ey)

ST gIazil

Yus: ‘d’ Section A
SMGRINICEIRE L 10
Reading -Comprehension
aefaRaareny ufs@r ywmm saufdr feaad
frr=afafRaa wrensr & wgar sl @& S fefRgu |

Read the following passage and answer the questions.

Tl HETHNTIY: TG R] Sd: I | o= 91 AT STl | & O ol aod
RITARYET 373 A | G ST oIE=11 U | Ured Rerd: msrard! sraad—ary!
TT A SARA 3fcT: HAT oIl dfe: i | #eIcANT: sad—fhaf avg &g
HAR(ET 7 9afT | fhq oI HTd M A5 KT U g WTaHIfa? =1d | ey 9aT]
M Ug @I 3 | T™d 741 R s sRemd 5fd |

afe = 99 A e gfAvy qAT SAATHRET: HaH: Al <IN SIRGIH SIfeRTed -
9o | ST ATTLIHATIARTG 3D FAIU €, TR AT & I 9ag: T¥
T AN W ;|

TP SIRd
Th U5 H S <fg |

Answer in one word only. xd=2
() OTEIP ST B AU b A AIN?

() & FEEA: ured Rerar?

(iii) OGN BT HATKT SICT?

(iv) HARREAT oRg-H TsHART B Aferad?

guiar@s R4

AEhpd @ Yuiqrag d SR IR

Answer in one sentence. 1x2=2
G I ygE: e @0

(i)  STSHATRIAT AEIHT: g fopmef farer?
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II1.

Iv.

FdergaR yee SRd
frder & agaR yel & SR T

Do as directed Ix4=4
() fpult a%] gs Joarled 9 Hafa gaRA" aradie “gaq 'sfa e o

fareryoRy? 1
() TeEY WA, dM U4 ARG SANAT grR A Sl AR

&l B? 1
(i) =T g UG & (A orF UYe:? 1
(v) T SO & gt 3T UYE:? 1
I rEiT wqfad five ferad | 2

59 ey o fau wgfaa ofide fafRag )
Please give a suitable title to this paragraph.

Yrs: 9’
Section B 15
G D BT
Writing Skill in Sanskrit
SHYRFETH 3die: SraSIA-E=H JYdaH W@fH=EH U yaeiforad |
IEA: ATdId: Hl ALFgfofarn gfnfam se)iq, 39 aw
fFacd i uRads omaq | I 3 51 oura: Sfaqu: Reawenty
qR¥@Er ud ye-forad |
YR frarel sl A didaar Farfl sgd ame v i3 & e uA
for@r| a¥qa: edl® A U@ wm=agE gfaifar 9 wnr faar o foaa
IUd Afdded § 9gad yRad g3 | Sua gRT for@ o= 4 9 o1 # g usl
H ¥ Sfd ug o B el I W)d gY UF @l YA SR gRasr § fafayg

Aloka, a resident of Kanpur, wrote a letter to his friend Apoorva, living in Calcutta
Actually Aloka had just participated in a "' General Knowlege Quiz Competition', which
brought about remarkable change in his personality. File in the blanks in the following
letter and rewrite it in your answer sheet (select the words from the hox.)

2 x 10=5
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T A |

3F R ARG | AR AGH TR U 9a] GG~ 9fdsafd I 3d T
JMASTARIH  SfdeaamFIsTA AR 71 faenew
(ili) ST, YFYRGR: F 59 | 38 URHINar sRAreH Ud faemmery HmifordT | 3Ry
TRE ffdufaererna: e ufon=: s | R ufaafar) o ydae fafaergraam
HGITHF—————(iv) |

ST gfRIRTaTat 7o REPR: Ua 9 Rora: w@ideneawy fUseg iReg 9 ——————

(v) ST 3 3V MY FETaqUll: TR AN ATHSHININ: HE FHl, | =9 =1er,
URIATARUT 9 | 310 I IR A [ ARard— g AN 4T oM} —————— (vi) 79 afada fu
— (vii) IRac SITaH |
T R IRT A WAy ————— (viil) UfRIRARg UfeMRlT wag | |aw:
TR JAfHATEH |
I &g
ye (ix)
IS RS CRGIEE
52 GG Si:, DIcThId]
——————— (x)
H S[HT

faeTae, aftias, enaydy, Yd! BFYRT: 3TaHvaq, ATl
UREHETAYC R, Yargeinyg, wfdfHey

3. USgdNRrAT JEiedl dAi RR¥Cr SkRyRaera g faed |
12 x10=5
79Nl 4 fay Y el @7 "erar 4 FeEfaRaa ageen of R aR SR
gRdaer § g faReayg |

Please fill in the blanks in the following story and rewrite it in your answer sheet with
the help of words given in the box.
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®
(i)
(i)

TEA— AT IR FHRTAq A/ ATSTATRTHTIT: HRAq Aggom:
(i) STARIE | ORI UTed UepT UfeahT AT If areflig &: (ii)
I3+ A “HRATI8Dh | ARdIgd ! 3T | TchTerid Ua: (iii) ST AN
d =gTed 9dr feq geefa? gial Wisaeq gal ufed (iv) 7O 98
NS | A YaHT AR | F&T (v) dfexrTdr a7 ufehrar o
A JaT: 3eeq W 4 3Rdigad | “dfe &fd qar a1 8" 3fa g WRaEs®:
THRERYT JEed g9 g 7 € 7 R U (vi) gad Iq S
(vii) 9 WA | YR 9Hd g8 dfooic: | 9ag gfd | Ras e
(viil) sfcar faRAa: w=yoy: Jraad FAIU UUBRI HedTH yedfd, draad

d (ix) T AR YT | IR | ARATSHT 9 Biva: U= TR
i SeaREs: IR U9 i I (X) Ud | X1 T ST AT |
I\EIT

RIS, PRURIRER, XTI, dledl, iR, AR,

g qeiTely, FTaerl, fasTRered
IgifaRady e fAua¥ Siffrc ysaaraafiaq uaH g=8< dxad- ferad|
fodl v fava wx uig 9@l &1 W¥gd 4 U@ g fafEu)

Write a passage of five sentences in Sanskrit on any one of the following topics.
Ix5=5

74 fAeTeras BIerg UM |
fshhc — solST HAT T |

Srrafer — HAerdH |

26




9us: T Section C
AU FAATHRUT 30

AGUGdd AThRUT
Applied Grammar
JEfafEady Ry RfdERUsHl |fufadwes fod
a0 fod a4 earerucl A wfafawss aifeg |
Disjoin Sandhis in the bold-typed words in the following sentences 1x6=6
() 3% o (safEme) uRig wievered |
() (@RFEREA) SR IO Ao ufadata &)
(i) UYAGQIET T |
(v) (U9 @) IrgfaxIfd IR e e |
v)  (fEfrearrersart) Soarddfs: s |
vi)  (Fraserdi==l:)  faxortaarg;: |
IefARady arrly ¥efererRval fays: dwmEn | 1x6=6
frafaRaa areal o @I seRl 4§ B Ugl &1 faus aifg|
Disjoin Compounds in the bold- lettered words in the following sentences.
i Fogasw 3 swEfia T
@ 1 g wif smEEw JfdewIRoT: |
(i) SFEd YREGH oM TR |
(iv) WA I STEUSHIVSR Sud: |
v) I U9 MBRE AT |
(i) SRR oY fdedfd |
fFrafaRedy arRlY sisaraiausiiycd 9 JiviRcar Reaemn gzaq |

1 fo@ gu arel A diss & sadid yafa @ ara ffd< go « Srs
PR @rell I 9RY |

Rewrite the following sentences by adding suffixes to the roots and words given in
the brackets. 1x8 =8
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() FTRA HrLEETd: (TR ) |
(i) ARYOISTARE T AcRISaT: (qa+aag ) |

(i) S BT YEATHARITN AT ———— SIPT I (G + THT)
(v) FIHEE: WRERJEHAY JUHEY———aqd~ | (7 + &)

(v) TToad: JenfaMd Eaadr] ———— IS | (3 + ¥1q)

wvi) ——— HRAHAIT: Uebren: 3190l aad | (W + AqY)

(vii) AT S ARy waf~T| (AT + 3M)

(vitl) ——————— FgRa o urde: (U3 + o)

efaRady aredy o< fbaraeal: sifafa: fhaam |
JenfafRaa aratl & &at X fear @1 sifsafa a3 |

Please write the suitable verb according to the subject or vice versa

in the following sentences. (1x5=5)
() dIgEEa UgfdardE st wadt fafsaq——— | (5d81g/91f7)
Gy ——— faATTemTe ARG quis sIar] | (39, goI0r)
(i) TF JATT AIONTAT: 3 ——— (T, SMTfsaf=)
(v) dfe Suree] o7 o —————— | (ST, STgea=<T)
(v) Fb TghT gfseari——————— | (Tterd, WRieg)
arerar

Y, TRy Hoourd: forcar faersud: e Ao arerad |
srenfafRad areal § faRivor yg wsoT 9 ®ic o) fausy usl & | s |

Match the adjectives with nouns in the following sentences. (The adjective words
have been given in the box)

0N ON

() TR ——— BYAYR Al |

(i) AgONfdT: ————— TR 3L |

(i) M Al TETE@USY ————— IEENINEREERIRE

iv) —————— greur: fAuafr=a |

(v) e IRT ————— T fIwy SR 31T |
HSS ST
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10.

IIfafady arR Y HIoHdiasiy SuuSfIdfad ygsa
Reaaeeryfd: feaar|

1 foe gy aredl § dissd § AU ¢ sl & | SUuq
faafda &1 I S |rell I ARy |

Please fill in the blanks after using suitable é&Upapada-vibhaktisii with the

words given in the brackets in the following sentences. 1x5 =5
@ afr wfdaard <2t (§<)

() FAIONAY: TER: e e | (agfas)

(i) T ——— IFORT AR W=SU T | (o)

(iv) @¥rarg ¢ ———— ST NI | (A1)

(v) omen Ife Sffeq, ff ————— | (79)

9us: Y Section D
AMT: (1) (Part -1)
gfSareT—araqies
(Text - Book Comprehension)
Ieifafad wene ufdw@r gear STRd|
fa ford ey @ yed} YTl & SN < |

Answer the questions after reading the following prose passages. o)

T JAADBI ASIOTHRT TANT GH: | IR, AfG I YRR JATAHR:

T G W e TSIUGHIYRT: ST Ud 7 J¥fawd, Id: a3 g U Iusd

g U9 W& Aeayet | afy 9, g uftr gaffirar g 365.25 a” wfca

YA | SATED: AR T 7T | AU = AT Hlpri Refaw: #:

T g% ufd Tewd: uRafd, AU e qEeRREReTR TRET o

af¥ed I grawT: Wi |

UdhUaHd IR Vax 2 =1
U&H e § IR T |

Answer in one word.

@) g sfitErR gfdad g\fa?

() GBI 9T B YR GEH:?

35
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IL

II1.

11.

gufqr@ls ITRd |
R 9@ H IR i |
Answer in a complete sentence.

() RIEIRIT RE ax & Yd?

FdergaR yee STRd
Fdegar el & IR AR
Do as directed

@) qdifEr iy ud we faemon?

G) uEE 3 e & fAdm: o uyga:?

Ix1=1

ax2 =1

(i) AE ATOTHIERE T T T MR sF oMiaw gfo fhaew

Hal b7
(v) “TERY’ S USRS & qAi: I UJT:?

sefafad arcary ufs@r gy STRd | 1+ 1=2
2 foaw Arcaie &1 ygdy Sax g |
Answer the questions after reading the following Drama passage.
(e areT)
(Auedl daiferd! HTAUTE o) &)
TSI I IER! R AqTferRTdl gaveEs &1ad |
TR (Fepred) TR foss fiss | | e | R We T UNIeETaey:?
T (Feprel) YT Ud |dF fogdes W gwEfg I, T ISafid |
TTOTR: e T SFNGERIET JISTH Td QI FRIai |
RS Jed dfe PIaFecddd UaveRy aEq YA SIgHA<sT |
TOT: BICIHBIAT JRATSTIRI YAl g |
RSl YoH HY TN UTel+H |
EICOE U HAMY 9 ST Secid-Hd | 3T STURAMN Wl SigfAesi™,
gl o |
RIS B |
THUQ IR Yax2=1
Th g A Sax Y|
Answer in one word.
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IL

II.

12.

() DR B UaNE?

(i) TP HFA BIAUS HO:?

gufarRe I<vd Ix1 =1
R I § IaX AR
Answer in one Sentence.

AT A JAARTRI TTeagavy T {67 TRa?

fAdergar sava Vo +V5+1+1=3
Frder @& agaRr Sar ARy

Do as directed

(i) UUH HE AL UleldH s HA 3 gdaUE RICRE

() IT T USRI T (ddAM: o uga:?

(i) T e SIgq s sd sl 3fa fhaiew wal &:?
(v) foRERRU Sl USRI & UG 3TF UgER:?

Jeifafad venel ufdw@r gea STRA| 1+ 1=2
P ford U=ner & ygdr SR <IfoIe |

Answer the questions after reading the following poetry passage.

N Waew RIqRey aermshas |

Y VHEITRY FeaR: g,

ST TRA=aRT STerT=<Iafe: AT |
TNIINRASIRKARING o i | |

UhUaHd Saxd Yax2=1
Uh Ug H 7R <IfvIg |

Answer in one word.

() THNITH HSOR: §F WY

() o BRI qUH Haq?
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IL

II.

13.

14.

gufqr@ls ITRd | I1x1=1
R A § IR G|

Answer in one Sentence.

STARId(e: H& 9N F9aRI 9ad?

?I?ﬂﬁi‘?ﬁ{ 3xd +¥+ 141 =2
frder @ rgaR sax dfvg |

Answer as directed

() IERr S U F: [Adm: 3 yygdd:?

() IS SRS IR 3 FIAHUE HH UYIH?

(v) TIRMIRHSIRIIRE Hdq @’ ARAT a1 Foar: 3fd dguew fh
- ) ?
I fFrdengar g S<Rd 1+1=2
frder @ sgaR =l @ IR g
Do as Directed
“UY WA AIVRIGRAUSAN, dhddl Qavasd’ |
(31) YT UG HEAT HAT Hebfoldr?
(@) R TRy T d: &P
. SIS 99 9 & gfa Saa? 1+1=2
fr=fafaa aeaier feas &9 @er 27

Who has spoken the following ''Vakyansa'' and to whom?

“IreTeRT: gfer T ¥ BAdd YYAR |

IgiferRaawr eellevgaw yeawmar! | Sum@: Sfaqua:
yri¥car fored|

frafalRaa Q1 wetel &1 wraref f@ar = 281 9 9w &)
WAl 9 sSfuad ugl ¥ wR &} fafay|
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IL

15.

@

The explanation of two shlokas has been given. Fill in the blanks
with the help of words given in the box. 242=4

@ fe garagEere
JATPRIGT GTUGeH
JgaErg a1 AT ;A SRS,
Rerd: TRINOT a: 4 SHaf |

ERICEECAN N BRI R ICTIERS IR N RS e b T ¢ ——— qqfe, YaHea gl U
RS ECR I AN R G| VB T2y 1) ——— Siigel Fgdl Joiurdig
§17] L — SRR R (SIS B 1) JEm—— AR Uq |

N o~
Sldted olldd, U dxT- 144[eld

N gIRT SIE] AR

il U dadl aafd |

AT 1 2 B¢ R ECIISIE I IR RN C NI (1) — THIY e
EISRC IV I BCAAN WL ) B (111 e —— e gRT Ugwl fecig el q9d
1, AR 8rcila wfd aaf=a|

Lq-l—

AETYRUTUH, GRPMT, =T, GaT,
Yeqdenfarfy, SReT, ARIgewT: AR

IifarRaasr elidga yexrad Reawermqfd oar q=: famal  2+2=4
| < Tellel @1 oy faar war 21 99H Rad el @ qfd e g
g4 fefdy |

The prose-order-renderings of the following two shlokas have been given below. Fill

in the blanks and rewrite the prose order.

o o T TR, Vo x 4=2
Jaf=y A=Ay A 7 AR |

yfdeg 8 wif<a wrerdeider

THFATE IR gdua: | |
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(i)

16.

17.

AdY:

T W () o=, I ARy (i) ———— 9 waf= Ife wreT:
qenfaermr (i) (G =) AlEr (v)—— 39 T+ |

JIATRTYHIN Iy,

f&d 1 Ay S,
T & QT o,

ST fheofaars: |1

3dY:

(i) ———— fed (i) ———— T g | @ i) ———— Td: QI
gl (iv)—— g 39 |

Jenfafgari ‘& ™ draiel WO drais: 98 Sfadde
Bod |

ffafRaa ‘& W™ o yea arq@izn &1 9’ Wi ¥ ey U arEi &
arar sfud e s |

Match the sentences of column “®° with those of column "9’ 1x4=4
R p— RN -

() AT AMHAITT: TIHT: &) dlE agyuE HRIA e |

() I @M RIE waq| §) T IR |

(i) TP AUETE W) I aq IR W) R |

(v) ST TATHBIEA T) AN W A |

ILNfARGAY IRy YEFauarl YaFTIaRy Sfadef sIsarg
forear feraa

fFrefafga ol o Y@ifga ol & yagTgar Sfuari drosl 4
g4 ) fafay |

Write the meanings of the bold-typed words which are suitable to the context).
Select the words from the brackets. 1x4=4

()  OF WEr FRAETC Thac] WARAvSHR] | (FEEHUS AR, URRFE, TSI

() SeHI GUEEDIR: Haa: | (T Grefedhr, griHad—Swa;, g AMIMdgd
ERISEL)

(i) TATGR: S ST YUIEC 0T | (FIRIUSHE, HEWYUL, 99 34)
(v) orferd forsfa davfran | (earfiRfaray, wraRfeds, JaarfEas)
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18.

IL

I

gus: ™ Section D
HIT: (II) (Part II)
HWW‘%T‘W

(General Introduction to Sanskrit Literature)

EfefEaaral 491 QueagdAl genfde ami fa@dl| 10
fFrefaRaa ®fedl & <o, 993 SR == & 9m Adwgar faRag )
Write the names of the place, time and works of the following poets, as per instructions.
hdY:

() Siffedeger:
{) wBi: T 1x3=3
(i) T
hdd:

0 wER
G) foemEe: PIeT: 1x3=3
(i) SffeHIGTART:

HIY:

AICNEIRIRRE

i PIfee: HIST Tt 1 1x4=4
i) farsert

(iv) ¥R

3reraT (OR)
frafaRaaaraly srcow: faar Sfadwsd: Raawermagfd: feaary |
fFr=iferRea el 9 disal 4 gaor Sfa weal 9 Raa @ gfd @i |

Fill in the blanks in the following sentences with the suitable words. (Select the

words from the brackets). (1x5=5)
() TCcHH IR™ fAefaarm qam wgfa ————— Vafd | (AT, ARTaTR,
<)
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3T.

(i) & YD AAHTTRI ————— qad | (FeaTEd:;, gEaad:, JIeyRIed)
(iv) wEThId ————— e Wald | (USRI, TIHeERy, ACHe)
(v) TEUEHI H —————— I | (AETPIIH, TCHH, I )

I AHEIPIIR U d faeman: 6wh o foraa
HEpaderaled @1 fo-dl did fagivdarel & d&hd 4 fafag)

Write five characteristics of Mahakavya in Sanskrit.
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afey  BRERM
IHY ;A "ue

Time : 3 Hours

el YTAusq 9. 2
(IIFAISET) Marking Scheme

(Fxpasaaa)

el graeil

Wug "&b’ Section A

SIBICNINEELIEE |

qUigT : 100
quiig; : 100

Maximum Marks : 100

10
IR Wue | 50| MM UPH: O¥a: Iufoa: wenen: AR |
UREIE
DAY SERDL YFYBIR: I fara—saRrioT IAg- | IT-
gga:| fawmr
L L | qegaeoieors | SifiereeR: (i) g7 Ya
TaHUaH (i1) STsHaRAT 1% 2
(iif) 7Y %)
(iV)ET%Z 1y
I | TeEeREvE | TR (i) SR Y
quidTeRI= MITIHATTARA 1 2
Uq e+, T 9
IR 9I:
(ii) JMSTHATRIAT HETH:
G farar ad: aRa 1
LIS ISR S|
L | 9 dmyaiT— | 3ffcerge: (i) faRruE= — =g 1
RIETIH [RCIECE (i) PYUSTIT  — HAM 1 4
(iii) faemaue=g7 — qfe: 1
(iv) TaigeREE - JiftRmE| 1
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Iv.  9e yary HfTeTERTR: (i) egEavwg: "o

3FeFaT EgaRIHETaY
(i) FETHRTIRI: =T 2
(iii) JURYSTH HEwIH 10

ours: 9"’ Section B
(E¥mdd =FATHRIA)
AR GUs = YT AT | G fRad ual 7 SquTe: fRrcar faf=RemeemE i

HROTT | SRR AT | gl Reaermyfiad 3w « arg: MR | Vs
BAG: |  SRWH [ UFUDKR: 39 farq—s<rfor Ig- | -
wga: | faamr:
2 CERICE] T AR () HHRT: )
fraReeri— | o3 ufyd
ERUSRIE TR A
T U9 (i) g 7
SRR
T B o3 U | (i) wffRIey Ya
TR AT
(sreaTer)
LERENRERE] (iv) 3Thvaq %) 2
Yd dI I
T Gv) affes 72
o e AT (i) e v
[EERERS [EEREESEINK (i) ST Ya
RIETIH (Repeerrry[d) i) gaTgeg 1% 3
(ix) aMTP: 2
(x) LIECLCRII N 2
5

3. IR T USRIl HUAR A JhalRThReI (e SR | o/ 91 Reheer=i AT |

ufrgraReefiad (1) ok org: MR |
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PART FHIgde ReTeeI—

gfcl:, STreUARTONIEOH

(i) NI

(i) g

(i) ARV
(iv) drear

(v) TasmHererndg
(vi) 3T

(vii) TderH T

(viii) T[RRI
(xi) aR=Ay

(x) <Rl

12
12
12
12
12
12
12
12
12
12

&)

4. TR TP [auId feeey U =araly oRg=H e | ufdared ge: arg;: HeiRa: | ol org;:
RIS M I YEHNIHANT |

SIEEIBLRE qraIf=rfom PECECIGOIIE] Va+ Vs 1
TR T— i+ Vs 1
RIEToTH Va+ Vs 1
2+ 12 1
2+ 12 1
us: ' Section C
AFHLIAATDRITH
@A @vS AR ARSI IAUfar:)
YEL:
HUIG: | Sewd JEYHIR: 3 fara—sarfor Ag- | IIg-
ggar: | fawm:
5 IRy UTSTETR - STIUATTCHD: (i) S+t 1
ffaems: PISHAE | (i) BRAT + f2q 1
UG AfFfEEE: | (i) Tad + T 1
TR (iv) US+1q 1
Gﬂ%l?'l'q\?l—\’: (v) fgdar T+ 9 9/ 1
(vi) FrSoTfa+g=<r: 1 6
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PHATE: | ST YITYHIR: U fATa—s<=IfoT Ag- Ag-
g IGEIRIE

6 IRy AR — | arRy RereR— | (i) Fo|r Il aw a @) [ 1
yeri faus—  |ueHrl fau= (ii) TSI 3T 1
TRV (iii) G B 1
(iv) SETved Tq v o | 1
OERERUIELE 1

(vi) AT AT HHE: 1 6
7 IRy pawi— | Yy (@) wfafig: 1
IS WART— | Acdr arda— | (i) Schd 1
qTeoT GERIRSIN (iii) &eH 1
Recermyf: (iv) Ifer 1
(v) T 1
(vi) W 1
(vii) AR 1
(viit) T 1
8 F—fpaIe—  |aTRy R OEEIR! 1
apfeafcr— PGl T | (i) ZwT: 1
ERLENE EERCIER (iii) STRTFA=IfT 1
gfe: (iv) ITECT: 1
(v) Ttey 1
8(dmfeus) | faRryorOe— H ST (1) SrfaoT 1
FIARIETT | fRwI-—uemeE | (i) 95 1
Reacreen= gft: (iii) H& 1
(iv) gIgHcT: 1

(v) TR H R 1 5
9 |SUmERMir— |Preen Ry | (@) 3% 1
TRINTURIEAOH | Sugcfavie— (i) Temfasor 1
JGTTOT (iii) JASTH 1
Recermyf: (iv) FFOT: / HIHAT 1

(v) 9 1 5

Total 30
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qus: g
gfSarer—sradrey
Q@R @S ud geAn ursayRdSH SmEnfar)

(Crfdaar —

fedia: =)

UEGIE
HUTE: | SRTIHq YITIHIR: I fara—saRfor IAF- | AF-
agdr]  fa¥mT:
10 gioqTerne— 1. JTTERR: (i) 365.25 9N 1% 1
GRTURIETOTH UHUQH STRA | (i) IgUHed 7
2. TR () FERERITR
PUEIERE] R G AAASY:
SRl qfS= ufd o= a1 1
qi¥paa— | 3. JfTeremR:
qRIET0TH
() foersue==q | (i) “gedi” gfd U faersm 7
(i) faeimaa=m (i) amegie: 7
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